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Full Mar_ks’ :50
Time :2 hours | »
Answer Q. No. l and three from the rest
The ﬁgures m the.. rzght—h_and margm’ indicate mdrks

Candidates are required to give their answers in their -
‘own words as far as practtcable

Illustrate the answers wherever necessaty

1. Anser any fi ve’qhe’?;t‘ions ftom'the foﬂowing‘ 2x5

(a) Mention two non-demographlc Vanables
‘which influence femhty

'(b) State two objectlves of Demographxc '
Anthropology ' '

(¢) Ifabalanced coin is tossed two times, what

( Turn Over )



(2)

is the probability that you will get heads both
times ? Show the probability by tabulating
the outcomes.

(d) Define facundity and fertility.

(e) What is standard error ’?

(/) What is ‘child woman' ratio ?

(g) What is Type I erroi' in statistics ?

2. (a) Describea populatioh pyramid With the help
of a suitable diagram. 5

(b) Write a short note on normal distribution. 5

3. (a) Enumerate the demand factors of fertility and
' bneﬂy explam ¢ach factor. 5

of 381 Tsembaga Marmgs of Ncw guinea 91
were working on Lands on which they had

- no legal claim. What is the probability that
any particular Tsembaga is working on his
own land ? 5
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(3)

4. (a) Define census and state its charactensnc
features.. .. . 4

(b) Suppose that the average bi_rth weight for the
population is u = 2-9 kg with 6=0-65. A
researcher would like to know if birth
weights of intants are significantly different
for mothers who smoked c1garettes during
pregnancy. A random sample of women who
smoked is selected and the birth weight of
. their intants is recorded. The data in Kilo-
~ grams are as follows @ ° . |

2:3,2:0,2.2,2-8,3-2,2-2,2-5,2-4,2-4,2-1,
123,2:6,2:0,2:3

s What would the researcher conclude ? Test
the hypothesxs at 01 ; vA__el of sngmficance 6

5. (a) Explain how:demography can help anthro-
.- pologists to conduct bxocultural studies. lee
suitable examples. . - 6

(b) Compute the Pearson correlatlon for the
followmg data: : | 4
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(4)

X r
2 9
1 10
3 6
0 8
4 2

6. (a) Distinguish between birth order and parity
with the help of hypothetical examples. 4

(b) The data for observed frequencies of colour
vision status according to sex is given below
rom a hypothetical population.

Observed Frequencies of colour vision status
Normal | Red-Green | Other
Male 320 70 {10
Female 580 10 10

Conduct a suitable statistical test at o= 0-05.
to test whether colours blindness has any
relation with sex or not. Report the results
of the statistical test. '
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